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http://www.diplomacyandcommerce.rs/serbian-trains-will-be-even-safer-and-faster-thanks-to-russian-technology/
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In a later phase: s stically varying events and how to

integrate it in the framework
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*E. Herndndez-Romero, B. Joseffson, A. Lametti, T. Polishchuk, C. Schmidt, Integrating Weather Impact in Air
@ Traffic Controller Shift Scheduling in Remote and Conventional Towers. EURO Journal on Transportation and
Logistics 11 (2022)
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®* Rin : minimu etween the shifts

® Rqx: maximum number of rest periods between the shifts

P e p = |P| number of periods
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® Elaborate the data provided b=y BelOp to determine the workload thresholds
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shifts | 0 1 2 3 4 5 6 7 8 910 11 12 13 14 15 16 17 18 19 20 21 22 23
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;) An example of one day schedule for eight dispatchers. This example was

O presented by Josefsson™ et al.

*B. Joseffson, T. Polishchuk, V. Polishchuk, C. Schmidt, Scheduling Air Traffic Controllers at the Remote Tower Center,

DASC (2017)
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